A4 9 A%

o At
DES 1.2 200 (10 < 20)
= = =32
N FU 2500 < 0.6 3
< H o 32[5]
2
20[m](X)

O O0OO0OO0OO0OO0OO0OO0o
OO0 O0OO0OO0OO0OO0OO0o
O O0OO0OO0OO0OO0OO0OO0o
O O0OO0OO0OO0OO0OO0Oo

10[m](Y)

3 A :1.25[m] B :1.25[m]
c:25m] D: 25m]
4) 4% - F7F AHASATL L =5

(5) 1.5H}

A V] 2718 = AF[A]

——— = 2133 &
220><16><08 34

<2 16[A] RV 33]=

3. ()
71E8FE 10MVAIZ & of ALS duda
o CF ot
ct
100 100 100
= X A 9 =—X x 4
P, %7, PR %z, P Py =5ey X 10= (%]
HAZ %Zs=4[%]
)| %Zir=5.5[%]
(2) = AL :

A YT AA %Z = %7, + %Z, = 4+55 = 9.5 (%]
o= 9.5(%]

(3) = At :

100 100
e P, = 5 x P, = 5 =X 10 = 105.26 [MVA]
AotgeFe orehgerRoh Aoksl 2 HolA 150MVA]

4,

(1) r:ﬂ-xg_go

© AF71, AWE Fo AYgws
Ay

DIEEAEIELEVES JI2

® W7o A ATLoR
7b 2HAy
@ g1
O azut HEE AREse] A A
@ A7 AZA A&
® g FA o (%) Bzt
o.
~4000<0.8
(1) Try = =55 = 296296 kVA]J,

E A 3000kVA] A&

_ 3000084

) =

oo~ 2333:33 kVA],

E A 3000kVA] AA

Try =

6000092

209~ ol kVAI,

oA 6000kVA] AR

2962.96 +2333.33+5111.11

AR AT M2

(2) STr= 3 =8005.69[kVA]
F A 10000[kVA] A&
_ 100 100
(3) P, = 57X Py =< 10=2500[MVA],
HoA 3000(MVA] AA
@ p=20 p_ 100 5 s00pval,

It

% -
%Z " 04+4.6

ol A 200MVA] A4

(5) FHA7] 2F AR

(
(

6) HAF

7

A7

© |2 P4 9@

LA

e 90O

® O

a7t A7 A7) AR me At
- Hd R A -



fd 3 B

6.

@) - A

@© ZdA A3 A Feie A4 FadE (7))
P, =P~ tanf = 4000 < %: 3000 [kVar]

@ ZdA 43 & Fady

P, =P, — Q. =3000— 1800 = 1200 [kVar]

® ZdA Az T AE(cosh,)

400 q00=95.782
v/4000% +1200?
< Eh: 95 78[%]
(2 AgeA 71 AgAst S7F Arlad S0t
() HHIZADC) : THA 9 FFHAsE FHAAA 7
AR BFA]
g ZHE(SR) : A5aLzuE AAstA oy HA
7

(1) X=ABC+ABC=A(BC +BC)
(2)

AC
Bo— X
c
&)
S
|A
’B B
|c C
8.
- At
O A7 A4 AR g
sy P (1041542510’ _ 94.96[A]
M3 Veost V3380 0.8 '
@ Ad7) 4 AF T
10) x 10° .
g, = S0 o) 20a] (sl o) )

V3% 380 % 1.0
® FEEYL FaE L&

AT 7)o 48 AF I=94.96x0.8 ="75.97[A]
HAE7)0 Ba HAFE [ =94.96< 0.6 =56.98[A]

T

%l

Ll

i
N
N

= V7] FER+ ALY FARP + 2159 FER
d Gl

n

I = /(7597 +22.79)% +56.98% = 114.018[A]
= 114.02[A]

o &2
_3.;5

wolu WAL e Rl AL

S
o i ol oL ol
oL e
o U SRR R TN
-
PN
o
ol
ol
)
of
N

2 g 2 do £ gy

B4 w2 e e qu
BB e B
N

@6 0o o
oL
e

—
—

@) - AWt
E,= V—IR, = 440—540 x 0.041 = 417.86[V]
B 417.86[V]

(@) - AWt
607F,  60x540x417.86
=5 = 5 500 = 2394.16[N - m]|
<2 2394.16[N -m]
(3) « AlKt
AL NAEHES)T MRS

= (0.75 % 540)? < 0.041
= 6725.03[W]
< EF: 6725.03[W]

A7) 71 AbA 7] Aol 3 At

- W A -



A4 9 A%

12. 15,
1) o At 1) o AW
0.75+1.5+3.74+3.7+7.5=17.15[kW] Ag7dst
= 2 < 10° )
= 10[mm’] _ e = L (Rt xtang) = 2200107 (501042 28 | =200
@ AE71459 2A 71 17.15kW]o|n2 [#])A A% V. 6000 08
71429l A 19.5kW]e} 7157 AHE AE7 F A& <& 200[V]
o] A 7.5kWldA HAFAE7] & 60[A] A
<Eh: 60[A] (2) - AR
- 73] 200
'3 AgAdstE = mx 100 = 5000 % 100=13.33
« CF O
e AP o o ¢ 3.330%]
50 0.5
AT 2083 20.83[kW] (3) - At
5 Ay
B 401X10'°:18.18 18.18[kW] i ( "
’ P 1 X1 X 0.3X2
3005 P, =3PR=—; Rz — 02 023 =26041.67
o : 2' =125 12.5[KkW] V=cos™0 6000~ < 0.8
i < Bt 26041.67[W]
(2) - AR
Zg B3l = gAY HE 16
20.83+18.18 +12. L
_ 20.83+18.18+ 5=39.62[kw] o
13 LzC
o &1 39.62[kW] Lso
®) PEN > .- T
T8 Atars gt «H o ,\I\}\
AT 20.83%0.6=12.5 12.5[kW] ottty el
B# 18.18 0.5 =9.09 9.09 kW] L b I
C 12.5%0.4=5 5[kW] ANSEX
(4) - AWt
_ _ 7y o] W e g
ZFH 1o 1w O 1Ll T H
SRV = T A A
12.5+9.09+5
X = .
39.62 100 =67.11[%)]

14, « ARt
HF A7) #(Tap) A8 UH
O ¥ AF L, =CTIzxZ HF{F X

5
= X —X12=
fp =30 55X 1.2 3[A]

@ BAF A7 B4 9 golM Aged ¥ AA

a7t A7 A7) AR me At

- R -



